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aataldsunsununuay

function aa = spdamp4msend(g)

f=9.81,

w=sqrt(g)

k1=1000;

k2=1000;

k3=1000;

k4=10.34*.5;

k5=10.34-k4;

m1=100;

m2=100;

m3=100;

m4=5.52;

al=[k1/m1+k2/m1 -k2/m1 0;-k2/m2 (k2+k3)/m2 -k3/m2;0 -k3/m3 k3/m3]
a2=[k1/m1+k2/m1 -k2/m1 0 0;-k2/m2 (k2+k3)/m2 -k3/m2 0;0 -k3/m3
(k3+k4)/m3 -k4/m3;0 0 -k4/m4 k4/m4]

a3=[k1/m1+k2/m1 -k2/m1 0 0;-k2/m2 (k2+k3)/m2 -k3/m2 0;0 -k3/m3
(k3+k4+k5)/m3 -(k4+k5)/m3;0 0 -(k4+k5)/m4 (k4+k5)/m4]

s1=[k1+k2-m1*wW”2 -k2 0;-k2 k2+k3-m2*w”2 -k3;0 -k3 k3-m3*w"2]

f1=[f -k2 O;f k2+k3-m2*w”"2 -k3;f -k3 k3-m3*w”"2]

f2=[k1+k2-m1*w”2 f 0;-k2 f -k3,;0 f k3-m3*w"2]

f3=[k1+k2-m1*w2 -k2 f;-k2 k2+k3-m2*w”2 f;0 -k3 f]

sd1=[k1+k2-m1*w"2 -k2 0 0;-k2 k2+k3-m2*w"2 -k3 0;0 -k3 k3+k4-m3*w"2 -
k4;0 0 -k4 k4-m4*w”2]

fd1=[f -k2 0 O;f k2+k3-m2*w"2 -k3 O;f -k3 k3+k4-m3*w"2 -k4;0 O -k4 k4-
m4*w"2]

fd2=[k1+k2-m1*w*2 f 0 0;-k2 f -k3 0;0 f k3+k4-m3*w"2 -k4;0 0 -k4 k4-m4*w"2)
fd3=[k1+k2-m1*w”2 -k2 f 0;-k2 k2+k3-m2*w*2 f 0;0 -k3 f -k4;0 0 O k4-m4*w"2]
fd4=[k1+k2-m1*w”2 -k2 O f;-k2 k2+k3-m2*w"2 -k3 f;0 -k3 k3+k4-m3*w*2 f,0 0
&4 0]
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y1=eig(al)

y2=eig(a2)
y3=eig(a3)
d1=det(f1)/det(s1)
d2=det(f2)/det(s1)
d3=det(f3)/det(s1)
dd1=det(fd1)/det(sd1)
dd2=det(fd2)/det(sd1)
dd3=det(fd3)/det(sd1)
dd4=det(fd4)/det(sd1)
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>> spdamp4m(0.16)

W:
0.4000
al=
20 -10 0
-10 20 -10
0 -10 10
a2 =
20.0000 -10.0000 0 0
-10.0000 20.0000 -10.0000 0
0 -10.0000 10.0517 -0.0517
0 0 -0.9366 0.9366
a3 =
20.0000 -10.0000 0 0
-10.0000 20.0000 -10.0000 0

0 -10.0000 10.1034 -0.1034
0 0 -1.8732 1.8732



s1=
1984 -1000 0
-1000 1984 -1000
0 -1000 984
f1=
1.0e+003 *
0.0098 -1.0000 0
0.0098 1.9840 -1.0000
0.0098 -1.0000 0.9840
f2 =
1.0e+003 *
1.9840 0.0098 0

-1.0000 0.0098 -1.0000
0 0.0098 0.9840
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1.0e+003 *

1.9840 -1.0000 0.0098
-1.0000 1.9840 0.0098
0 -1.0000 0.0098

sd1 =
1.0e+003 *
1.9840 -1.0000 0 0
-1.0000 1.9840 -1.0000 0
0O -1.0000 0.9892 -0.0052
0 0 -0.0052 0.0043
fd1 =
1.0e+003 *
0.0098 -1.0000 0 0
0.0098 1.9840 -1.0000 0

0.0098 -1.0000 0.9892 -0.0052

0 0 -0.0052 0.0043
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fd2 =
1.0e+003 *
1.9840  0.0098 0 0
-1.0000 0.0098 -1.0000 0
0 0.0098 0.9892 -0.0052
0 0 -0.0052 0.0043
fd3 =
1.0e+003 *
1.9840 -1.0000 0.0098 0
-1.0000 1.9840  0.0098 0
0 -1.0000 0.0098 -0.0052
0 0 0 0.0043
fd4 =
1.0e+003 *
1.9840 -1.0000 0 0.0098

-1.0000 1.9840 -1.0000 0.0098

0 -1.0000 0.9892 0.0098
0 0 -0.0052 0
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1.9806
15.5496
32.4698

y2 =

32.4755
15.5688
2.0326
0.9114

y3 =
32.4816
15.5908

2.2862
1.6179

0.0318

dz2 =

0.0533
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0.0642

dd1 =

0.0319

dd2 =

0.0535

dd3 =

0.0644

dd4 =

0.0776
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>> spdamp4m(1.9806)

W:
1.4073
al =
20 -10 O
-10 20 -10
0 -10 10
a2 =
20.0000 -10.0000 0 0
-10.0000 20.0000 -10.0000 0
0 -10.0000 10.0517 -0.0517
0 0 -0.9366 0.9366
a3 =
20.0000 -10.0000 0 0
-10.0000 20.0000 -10.0000 0

0 -10.0000 10.1034 -0.1034
0 0 -1.8732 1.8732
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s1=
1.0e+003 *
1.8019 -1.0000 0
-1.0000 1.8019 -1.0000
0 -1.0000 0.8019
f1=
1.0e+003 *
0.0098 -1.0000 0
0.0098 1.8019 -1.0000
0.0098 -1.0000 0.8019
f2a =
1.0e+003 *
1.8019 0.0098 0

-1.0000 0.0098 -1.0000
0 0.0098 0.8019



1.0e+003 *

1.8019 -1.0000 0.0098
-1.0000 1.8019 0.0098
0 -1.0000 0.0098

sd1 =
1.0e+003 *
1.8019 -1.0000 0 0
-1.0000 1.8019 -1.0000 0]
0 -1.0000 0.8071 -0.0052
0 0 -0.0052 -0.0058
fd1 =
1.0e+003 *
0.0098 -1.0000 0 0
0.0098 1.8019 -1.0000 0

0.0098 -1.0000 0.8071 -0.0052
0 0 -0.0052 -0.0058



fd2 =
1.0e+003 *
1.8019 0.0098 0 0
-1.0000 0.0098 -1.0000 0
0 0.0098 0.8071 -0.0052
0 0 -0.0052 -0.0058
fd3 =
1.0e+003 *
1.8019 -1.0000 0.0098 0
-1.0000 1.8019 0.0098 0
0 -1.0000 0.0098 -0.0052
0 0 0 -0.0058
fd4 =
1.0e+003 *
1.8019 -1.0000 0 0.0098

-1.0000 1.8019 -1.0000 0.0098

0 -1.0000 0.8071 0.0098
0 0 -0.0052 0
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yi =

1.9806
15.5496
32.4698

y2 =

32.4755
15.5688
2.0326
0.9114

y3 =
32.4816
15.5908

2.2862
1.6179

d1 =

2.3532e+003
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4.2404e+003

5.2876e+003

dd1 =

1.0120

dd2 =

1.8137

dd3 =

2.2465

dd4 =

-2.0153
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